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1. (8%)If A™ :[ 2} what is A ?

-1 oo 18 s
18 5 18 7 20 20 2 9
A A 2 B A: 3 C A: 3 D; A:
wa=| Tl@as L oasy 5o [7_18}
7 2 5 2 20 20
) A=| "
-5 18]
cos@ sinfd 0
2. (8%) A=|sind cosf 0| findA™'?
0 0 1
1 . 0 .1 i 0
cosd siné —sind cosf 0 sin@ cos@
(A) A= ,] ! 0|,B)A=| cosf@ —sinf 0|,(C)A= 1 .] 0],
sinf cosf@ 0 0 | cosd sinf
0 1 0 0 1
(cos@ sing 0 1 0 cosd
(D) A=|sinf cosd 0, (E)yA=[ O 1 sinf|.
| 0 0 1 cos@ sind 1
0 O0<t<l
3. (8%) Evaluate L{f ()}, f(t)=
3t-3 t>1

2 . o1 _» g, 2 6 .
(A)=e™, B) e, (C) e ,(D) e ,(E) e
s s s s s
4. (6%) Find the div(curl F) » F(x,y,z)=xpzi +4x’yzj+2x 2k .

(A) no answer, (B) <5y—9x2,2xz—52,—x2>, (C) 0,(D) 0 ,(E) 1.

(3.2)
5. (8%) The given integral j (x+y+— 2)dx+(x2—y+ —)dy is independent or dependent of
(0.0) x“+y x4y

the path. Evaluate £k =0.

(A) No exist, (B) independent and 23—6—%, (C) dependent and 23—6—%, (D) independent and ?+% 3

(E) dependent and ? +—;£ .

e
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Find the LU-factorizationof A=|1 1 -1/ if possible.
1 2 1
6. (6%) L:
1 0 0 1 00 1 0 0 1 00
(A)L=|2 1 0|,(ByL=|1 1 0[,(C)L=|1 1 0|, (D) L=(2 1 0], (E)donotexist.
11 1 1 2 1 1 05 1 1 4 1
7. (6%) U:
1 3 1 1 2 -3 1 05 3 1 2
(A)U=|0 -2 =2(,B)U=|0 I 2|,(C)U=|0 1 2, (D)U=|0 1 4}|,(E)donot
0 0 1 0 0 1 0 0 1 00
exist.

8.  (6%) A particle whose position vector is r(¢) =costi+costj++/2 sintk move with constant speed
(A)cos2 ,(B) 2, (C) sin2, (D) V2, (E) sinv/2.
9. (8%) If F=4yi+6xjand Cis givenby x*+»> =1, evaluatesf}F-dr

(A)2x ,(B) 4z ,(C) 6x,(D) 107, (E) 0.
10. (8%) A particle whose position vector is r(f) = sinti+coszj+3rk. Find the curvature
(A)cos3t ,(B) 1,(C) 0.1,(D) 3,(E) sin3r.
x,—2x,+3x; =4
11. (8%) Find the rank of the given matrix {2x, —4x, +6x, =8 and determinate how many solutions
3x,+x,+6x;=5
this system has.

(A) 2 and infinity solution, (B) 2 and unique solution, (C) 3 and infinity solution, (D) 3 and unique
solution, (E) no solution.

1 4
12. (6%) Diagonalize Az[ ] 1}if'possible.

O L e P O 1 oy p=l? 2 ) domot exis
= = , B ) = , exist.
IP=lg 1 BP=o 0 1+2i 1o o noreH
Evaluate the double integral L] J-OH eV ady |

o(u,v)
o(x,y)

13. (6%) Find the Jacobian

(E) —2.

a-L o | (C) 2(x* +y?) (D)—_I—
A)-=.B) y,) ) O 2055

14. (8%) Evaluate the given integral

(A)%(e"'+e) ,(B) §<e—e-'> .(©) %(e—e"), (D) 0, (E) %(e" ‘).




